2024 Fall Math 140 Week-In-Review
Week 12: Sections 6.1 and 6.2

Some Key Words and Terms: Interest, Simple Interest, Principal /Present Value, Accumulated Amount /Future
Value, Interest Rate, Time, Compound Interest, Compounding Periods, TVM Solver, Savings/Investing,

Total Interest Earned, Continuously Compounded, Effective Interest Rate/Effective Yield, Annuity,
Loan, Down Payment, Total Paid on the Loan, Total Interest Paid, Total Amount Paid.

Interest: -H,q, MO Mok— awn Q.CC,OM"’ e NS ) ‘ﬂ/\,l\s can Le, ?OQL ot

bedl J&Mb\?/on e *leL ot account
. 6}rvap&, ivterest (ro bamloowdal//l

e (o apo M‘i J:,p{-cr&s-(' (v\.on' w“"“"“@“&%/B
. (,ompowwl Taterest— Cwml—lac-tou-sflt-l/x

Simple Interest:

e wwerest 7 calleddatedl onee 3 Tverest (D)=t
P = orunctpell /presest vadue/ intiad amaunt
C = atrerest voive (oe o d.c.drw:Q)
L= time (in Yers someshimes we hove J3o cmw.rl—\)

Principal /Present Value:
. el deposit o it Q,Ooua curmgunt
. ‘:r\‘c,b o on Wem we  wuant [Locw)

‘. S fme zer, dhet ™ e woney omgun -

Accumulated Amount/Future Value:

e He amouat ok oo &c«"vefl’ VA

"%&m& N oo Wkl\? o CCount
¢ Sor a &ow, s e ?wu‘a'ﬂa-} 2¢To umﬂus we roDAauoe,

o SomL %QQLIQ'U‘Q ‘{jML) Wt = Ha /\/\.047 amount

For Simple Tuterest Acmulored Valee = Bresent Vodie + Tcterest
- A= P+ ogodn where = At

Week 12 - 6.1 and 6.2 Page 2



Interest Rate: $we %= e % akeresty ouPrl\cJ- +o HM, M-DMZ/}, e-a,\'t’.coeg/

i~ account \ cl Q
N VS UOO\AQNK wite Q—Q,MHOJ\ )y WC wont e A&.c,«M Fm

(simple therest | W\HAMM% WPMM\,.>
o Jhn war\c-:mk wita - TV 50\\/0.,7-' we  wont Q.q.,muvi'

Aoone B b Wost impek Bl Hngs S an accaut &

Time: e  wot Yo . 4R e,rﬂa, Vo W o m\’a“—”\
) \) 7 % “ { ue_P Ha “
o Somrirus j we'te céovm W\on% (;a\amaﬂ B~ — Months

’]/0 So\\lb L t wihn o . e N
N — P+ Ot & use o % e WM
@ eﬁ_w—_*hws: simple saverest A=V nQa.s. -
c,m-\'\l\uq;.slwz Pouw:l %:Pe’rt ! w‘ulL e ".L( ™ 30\)“.,\‘

@ TVM 4 sl Nor NS Hhan Solw/ N=m&

Compound Interest:

/\)0/\' Contiansus = " awl‘]“ ) ”ww/klﬂ;\ ) ! ""“”"ﬁ‘l S - \
Paase .\,J)L us YL number pa! c,wpow\dmg/
P.o.r?ock Cw\)

; % s bein
Contianous = pPon Hure 3 ro M b/c, ﬂamauftf' S ‘g/
« ] C/o/\.S‘('Cu’L“' Mpola‘h‘:d [ -{’AL Vg™ 'Pomuja,s
&’>IWA$+ baow theae Somudas @ A=Pe’t & Yoe=et—)

Compounding Periods:
b & vc.lvd, asSockoc\-e_,&

Now Jpssv  have o kvow e -
w/ e  words
mv\—-&\«Qt-&/ — M=
Mmk —> m=36S
wwu/-}{ = m= S
@MUQ\\A,% m=Y

2

Week 12 - 6.1 and 6.2 Page 3



TVM Solver: where  we spemd moss S owr e v Gl & 6R

N = dotedl avmder o wmpowubl«-taf Pn,r\ocks —met

= interest ke on_ o pareeAl ) .7
PV = P= prenent volwe /intal ammpunt/ initial Jtpon‘*—/lwm th‘ Lo, oy EL
PMT= any Eqwlo«l" Ryt (loan) o— depasit [wi»';s) POS /\bj“we/

FV = A= aw«b‘*a} qmoa.w‘y/ Ptdurc \fMoQMb — Qoam-o o"“'o’

c/Yy= # oF Faes CMPOMG(LQI P e
=M
P/Y = #oF Pu.»tw\m‘('s S T Y

QEnd (always D)

Savings/Investing: bw;u"' u() Mo oves— HmL
. og'éru\ PRV.EERVY, o»\LpnsH—— ‘o open an ce Cowat (]:\/ but- cs a'Vb)

, ,,-?_scw x rv}“lw' {aa“/w.w(— Wo acconl- (M as &J\Lay(—n‘vc)
. FV/ au,mul.w‘—c,oL wmount— 7 ,oos/'*/-;ve,

Total Intel;;sijiw\l;jﬁd ! : / ﬁ L _ (/4 ﬂ poy W).k (ﬁ,‘#ql_ Depo:/#) + [D-l'u&f" E:J'MJ)
FV = (Pa(N) + PV + Tuterest
g e B T Sl

ok”\ Posi’ﬁVb

Continuously Compounded: J(
LJ/g‘/ M{, to now

oo (ommea “’5“1" S 7 Jowle" or rl"'ffpu’\z\k \D[C/ we 0004“5' V%EOQ +°
oy A or \D in Pod situcton

ud:t\ﬂx/b\\i A;:?S " Mg“: A’:gP

Week 12 - 6.1 and 6.2 Page 4



Effective Interest Rate/Effective Yield: How we cpﬂ,(arb accoundts w/ A,‘M—(’
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Total Interest Paid:
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Total Amount Paid:
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Examples:

1. Your car breaks down and you have to take out a short term loan. The loan offers a simple interest
rate of 23% for 8 months. If you need to borrow $1, 800, how much will you owe at the end of the

loan? E; PP'L’ A;P*—I' Y =\%00
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2. You borrow $20 from your friend while you're out and tell them you’ll pay them back $30 in two
weeks. If this is treated as a loan with simple interest, what is the simple interest rate you offered
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3. You decide to deposit $2,500 in a savings account that earns 4.2% annual interest compouned
weekly. If you make no other deposits, how much money will be in the account after 15 years?
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4, <Hovx 1011gmlll it take a one-time investment of $10,000 to grow to $45,000 at an annual interest
Tate of F6% compounded continuously? (Round your final answer to 2 decimal places)
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5. What would be the minimum interest rate needed to triple any initial deposit in 10 vears if the

account has an annual interest rate that i compounded continuously/ (Round your final answer
to 3 decimal places before converting to a percent) J
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6. From the following accounts, which would be the best for a savings account?

g S

e Account A: 5.6% annual interest) compounded monthly

AER(
e Account B: 5.5% annual interest| compounded weekly

e Account A: 5.7% annual i11terest,med continuously ;
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7. From the following accounts, which would be the best for

e Account A: 6.2% annual interest, compounded daily

e Account B: 6.23% annual interest, compounded weekly

e Account A: 6.18% annual interest, compounded quarterly

Ao ve2(62,365) — fus= 6.3456F %
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8. You decide to start putting money aside for emergencies. You open a savings account with an
initial deposit of $1, 000 and make monthly deposits of $125. The account earns an annual interest
of 2.55% compounded monthly. How much money will you have saved after 10 years?

N = L\?\(\Cﬁ
% = 2.55

PV = — OGO j wzm have S«'Mf&j
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PMT = — 25 fH ‘%lggg‘gé
FV = 7
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P/Y = \=x

End (always)

9. After completing your freshman year, you decide to start saving money for a summer trip at the
end of you senior year, 3 vears away, that will cost $12,000. How much money would you need
to deposit in the account each week if you don’t have any money to make an initial deposit and
the account earns 3.2% annual interest compounded weekly?
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10. Your car breaks down and you have to put the repairs on a credit card. The repairs cost $2, 390
and the credit card charges an annual interest rate of 28% compounded monthly. Your credit
card company requires you to make a minimum monthly payment of $61. How many vears will
it take to pay off the repairs if you only make the minimum payment every month? (Rpund your

answer to 2 decimal places) _%? &“,\( C,C»Sg\b oSt ‘wﬁ/ ans y
C) \
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End (always)

11. You want to take out a personal loan to make some home repairs. You can handle a monthly
payment of up to $230 per month and plan to take out a 4-year loan at an annual interest rate of
6.2% compounded monthly. What is the maximum loan amount you can apply for?

N = C\u)('-t) vN=7

1% = .2
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End (always)
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12. You decide to buy a house you plan to rent to generate passive income. The house vou plan to
buy has a listing price of $315,000. You find a bank that will finance a 20-year loan at 3.4%
annual interest compounded monthly. You plan to make a down payment of 15% of the listing
price.

(a) How much will the down payment be? How much will you have to take out as a loan?

Dowm. Paymet” = (OJS}(gLSOOO) = §4trs0
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(b) What will be the outstanding balance on the loan after 10-years? How much equity do you

have at that point? N F N A“v{f (,C) ?
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(¢) How much will you pay in interest over the life of the loan? g , it ’ - $ / gg/ é,c/. 42
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13. You take out a loan 3-year for $23,500 at an annual interest rate of 7.6% compounded monthly.
How much of the 4th payment is applied to the principal and how much js applied to intere$
(e%
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